IS CUANSIENENER S Direct Variation: When two quantities have a

constant ratio

Today, we'll begin Chapter 9.

Y% a)Direct Variation? N O

1. Two equations for Direct Variation are: X and y - kX X Y —i%
i 14 D) Since the first two ratios are not the same

2. What does the letter  represent? The variation constant there is no reason to continue, this is NOT
8 |15 { %’l g_ Direct Variation.

3. The graph of Direct Variation is aline o 16

N 10 | 17
e origin
dy th h
R o If Yes, & =

If Yes, equation is:



b)Direct Variation?___ 7€

X |Y %ﬁ

-3|-1.8| .G

513 ..

6 |3.6 A

8 4.8 | L
IfYes, k=,

Yc/(ﬂK o X\>/i_/(ﬂ

If Yes, equation is:

Does each graph represent a Direct
Variation relationship?

1. NO 2 NO

This doesn't
pass through
the origin

3. Yoo 4

This isn't a line

~— ™
S This isn't even a function!

It doesn't pass the Vertical
Line Test.
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Using just the signs we find out the first two ratios
6 -10.5 — are negative but the third one is positive which means

there is no constant ratio.
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If Yes, equation is:

Given the table shows a direct variation relationship,
find the value of ?.

1. Use a Direct Variation Equation
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Remember the phrase: v varies directly with X"

Inverse Variation: When two quantities have a
constant product

The amount of water’in the tub varies directly = i = Al
with the amount of time the water has running. X S
After 5 minutes there are 12 gallons in the tub. =29
s — - 'al
3 4 ) N
1. Model this situation with a Direct Variation

equation. Y = Q.Yx 5~ %%Z.V

2. Find the amount of time it takes to filla@—> &

gallon tub. = 22.= MY
. ; oy 7 37Tt
1. Three equations for Inverse Variation are: 2. What does the letter i represent?
k k The variation constant.
y = i X==

Xy =k | X y

,and




3. For Direct Variation, as one quantity increases the other quantity also increases.

How do you tell if a table of values produces
and inverse variation relationship?

For Inverse Variation, as one quantity . )
See if xy is a constant product.

increases the other quantity _DECreases
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